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<PGDM IB, 2022-24> 

<Managerial Economics> 

<IB- 108> 

Trimester – I, End-Term Examination: September 2022 

 

Time allowed: 2 Hrs              

Max Marks: 40            

 

Instruction: Students are required to write Roll No on every page of the question paper, writing anything 

except the Roll No will be treated as Unfair Means. All other instructions on the reverse of Admit Card 

should be followed meticulously.   

 

Sections No. of Questions to attempt Marks Total Marks 

A Minimum 4 question with internal choices and CO 

(Course  Outcome) covered  

4*5 

 

 

20 

B Compulsory Case Study  20 20 

  40 

Section A 

QA1 (CO-1) People cannot really put a numerical value on their level of satisfaction. However, they can, 

and do, identify what choices would give them more, or less, or the same amount of satisfaction. An 

indifference curve shows all combinations of goods that provide an equal level of utility or satisfaction. Draw 

Indifference curve diagrams for perfect Complimentary goods and perfect substitutes  

Or 

QA1 (CO-1) IRCTC, an example of government created monopoly earns rupees 2200 Cr in revenue, with 

40% profits! Such high margins are unheard of, in e-commerce. Discuss the causes of monopoly and show 

how a monopolist makes a supernormal profit with the help of a suitable diagram. 

 

QA2a (CO-2) Calculating the price elasticity of its product gives a good indication of how higher prices 

will impact its bottom line. Price of rice falls from Rs 5 to Rs 4 per kg. This leads to an increase in its 

demand from 10 kg to 20 kg in a month. Comment on the elasticity and what kind of good is it? What 

shape its demand curve will take? 
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Or 

QA2b (CO-2) If the cost of a shirt doubles, consumers buy fewer shirts, all else being equal. If the shirts go 

on sale, consumers tend to buy more. However, multiple factors can affect both supply and demand, 

causing them to increase or decrease in various ways. Explain this phenomenon with the help of the law of 

Demand. Are there any exceptions to this law? 

                                                                                                                                       

QA3a(CO-3) If a soap manufacturer doubles its total input but gets only a 40% increase in total output, 

What kind of returns to scale the manufacturer experiences?. Explain the laws of returns to scale with the 

help of Isoquants.  

Or 

QA3b(CO-3.) Total cost of a product is $100 when the quantity produced is Zero. Find out TFC? Explain 

the concepts of TFC, TVC & TC with the help of suitable diagram. Is the distinction between the fixed cost 

and variable cost relevant in the long run? 

. 

QA4a (CO-4) Consider two companies, ITC & Nestle. If they advertise, they can both sell more and 

increase their revenue. On the other hand, if only one advertises, that company increases its market share 

and also its profit. Construct a payoff matrix using the following hypothetical information: If neither company 

advertises: each earns a profit of $55 million per year. If both advertise: each earns a profit of $30 million 

per year. If one advertises and the other does not: the company who advertises earns a profit of $65 million 

and the company who does not advertise earns a profit of $15 million. If the two companies agree to 

coordinate their strategies, what is the outcome? 

Or 

QA4b (CO-4) External economies of scale occur when an entire industry benefits from expansion, for 

example, through the creation of an improved transportation system, a skilled labor force, or by sharing 

technology. Explain the various external economies of scale citing examples.  

 

Section B 

Case Study: Supply shortages in 2022 

Everything was about shortages in 2021. COVID vaccine shortages at the start of the year were replaced 

by fears that we would struggle to buy turkeys, toys or electronic gizmos to put under the Christmas tree. 

For most of the year, supermarket shelves, car showrooms and even petrol stations were emptier than 

usual. Some shortages were resolved quickly, others linger. So are we facing another year of shortages or 

will the supply chain crisis abate in 2022? It’s worth reflecting that the shortages have happened for many 

reasons. During the early 2020 lockdowns, a sudden run on essentials such as toilet paper and pasta left 

shelves around the world bare.  

                                                                                                                                 Turn Over 

https://www.investopedia.com/terms/m/manufacturing-production.asp
https://www.theguardian.com/business/2021/sep/26/christmas-turkeys-scarcer-uk-supermarkets-brexit-shortage
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Singapore ran out of eggs as consumers hoarded them, for example. Retailers ordered more eggs, 

desperate to satisfy demand. But once the demand had been satisfied, there was suddenly an oversupply. 

In June of that year, distributors threw away 250,000 eggs. This is what happens when demand temporarily 

changes. The effect magnifies with each tier of the supply chain as every supplier adds an extra buffer to 

their order to be on the safe side. Minute changes in customer demand can therefore result in huge extra 

demand for raw materials. This is called the bullwhip effect. As with a whip, a small flick of the wrist can 

lead to a big crack at the other end. The bullwhip effect can be from demand suddenly falling as well as 

rising, and during the pandemic these forces have sometimes combined. For instance, a combination of the 

crash in demand for new cars and higher demand for devices like laptops and games consoles for 

lockdown entertainment contributed to the semiconductor-chip shortage. With modern cars 

sometimes containing 3,000 chips, car makers are major customers for chips. But as car sales plummeted 

in 2020, supplies of chips were redirected to manufacturers of smaller electronic goods. When demand for 

cars picked up again a few months later, there were not enough chips to go around. Carmakers were 

forced to stop production lines and couldn’t make enough cars to satisfy demand. They also started 

hoarding chips, making the shortages worse.  

Other imbalances in today’s supply chains are larger than competing companies or industries. Shipping 

containers move some 1.9 billion tonnes per year by sea alone, including virtually all imported fruits, 

gadgets and appliances. Normally containers are continually loaded, shipped, unloaded and loaded again, 

but severe trade disruptions resulting from lockdowns and border closures broke that cycle.Containers were 

left in wrong locations as trade shifted, shipping capacity was reduced and vessels couldn’t land where and 

when they intended. Coupled with congested ports and problems with timely unloading and onward 

transportation, a typical container now spends 20% longer in transit than before the pandemic. Shipping 

rates have soared in this environment. Prices on major east-west trade routes have increased by 80% year 

on year, which is bad news for economic recovery. Even a 10% increase in container freight rates can 

reduce industrial production by around 1%. 

Technological advancement may have reshaped manufacturing, but production and delivery still rely 

heavily on people. Waves of layoffs in production due to lockdowns resulted in labour shortages when 

demand picked up. To give one example, Vietnam saw a mass exodus of workers from industrial hubs to 

rural areas, which could not easily be reversed. Worker shortages were particularly evident with lorry 

drivers in the UK and other countries. The sector already struggled to recruit and retain drivers because of 

pressures of rising demand, an ageing workforce and worsening working conditions.  

Meanwhile, Brexit has made it harder for migrant drivers to work in the UK. There were at least early signs 

of the driver problems easing in the run-up to Christmas as more recruits came through the system, which 

will have been one reason why goods shortages were not as bad as they might have been. Equally, 

however, we shouldn’t expect a swift end to the supply chain crisis in 2022. The omicron variant is leading 

https://www.jll.ie/en/trends-and-insights/investor/too-many-eggs-covid-19-turns-focus-on-the-bullwhip-effect
https://www.cips.org/knowledge/procurement-topics-and-skills/operations-management/bullwhip-effect-in-supply-chain/
https://www.cnbc.com/2021/02/10/whats-causing-the-chip-shortage-affecting-ps5-cars-and-more.html
https://www.nytimes.com/2021/04/23/business/auto-semiconductors-general-motors-mercedes.html
https://www.euronews.com/next/2021/07/10/carmakers-are-hoarding-semiconductors-like-toilet-paper-analysts-say
https://www.euronews.com/next/2021/07/10/carmakers-are-hoarding-semiconductors-like-toilet-paper-analysts-say
https://www.statista.com/statistics/253987/international-seaborne-trade-carried-by-containers/
https://theconversation.com/global-shortage-of-shipping-containers-highlights-their-importance-in-getting-goods-to-amazon-warehouses-store-shelves-and-your-door-in-time-for-christmas-168233
https://home.kuehne-nagel.com/-/knowledge/market-insights/container-shortage
https://www.dw.com/en/2021-supply-shortages-year-of-waiting-followed-by-year-of-anxiety/a-60114707
https://www.drewry.co.uk/supply-chain-advisors/supply-chain-expertise/world-container-index-assessed-by-drewry
https://unctad.org/system/files/official-document/rmt2021_en_0.pdf
https://www.reuters.com/world/asia-pacific/vietnam-seeking-fix-labour-shortage-soon-pm-2021-11-12/
https://theconversation.com/low-pay-long-hours-high-pressure-what-its-really-like-to-be-an-hgv-driver-169385
https://theconversation.com/low-pay-long-hours-high-pressure-what-its-really-like-to-be-an-hgv-driver-169385
https://www.thegrocer.co.uk/supply-chain/the-real-causes-of-the-hgv-driver-shortage-and-why-we-cant-blame-it-all-on-brexit/659841.article
https://www.bbc.co.uk/news/business-59542794
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to more staff shortages as people take time off sick and suppliers navigate new restrictions. China’s zero-

COVID strategy is likely to continue to disrupt both production and transportation of goods, possibly for 

the entire year.  

Yet we might also see problems in the opposite direction, via another crack of the bullwhip. Back-orders in 

many sectors will have been filled, but consumer demand may well be cooling now that furloughs have 

ended and interest rates are beginning to rise. So some companies might find they end up with an over-

supply of goods. To avoid this, they will have to level their production rates with demand.  

Yet demand may still be difficult to forecast – and not only because of omicron and China. A new variant of 

concern leading to a new wave of lockdowns could easily result in people once again spending money on 

things rather than holidays and nights out. Supply chains with good visibility of actual demand and clear 

communication across supply chain tiers will be at a considerable advantage. In sum, it is likely that 

different industries will experience both shortages and over-supply problems throughout 2022. A longer-

term issue is to what extent supply chains change. The pandemic raised new doubts about outsourcing 

production to far-away countries with lower labour costs. Equally, problems were aggravated by strategies 

to maximise supply-chain efficiency such as just-in-time manufacturing, where companies keep inventories 

to a bare minimum to reduce costs. A major theme of 2021 was how to make supply chains more resilient. 

But building additional capacity, holding inventory and safeguarding against disruptions is not cheap. As 

shipping logjams ease and recruitment rises, the talk of reform could peter out. Some companies 

will probably continue to improve their just-in-time with a sprinkle of just-in-case. Others will bring 

production of some products closer to home markets while also keeping offshore production facilities to 

serve local markets.  

Questions 

B1 (CO1)   Explain the demand and supply side factors that led to Shortages during the pandemic (10) 

B2 (CO2)  Explain the concept of shortages with the help of a relevant diagram  using the example of 

semiconductor-chip shortage from the case. Discuss what led to the shortages                    (10) 

https://www.ft.com/content/741f8365-0fb7-4f05-8a00-6e447d1eb50f
https://www.bloomberg.com/news/newsletters/2022-01-04/supply-chain-latest-asia-s-factories-withstand-omicron-disruptions
https://www.aljazeera.com/economy/2022/1/5/bb-china-could-stay-shut-for-all-of-2022-goldman-sachs
https://www.ft.com/content/b211b372-e844-4ce2-bacb-8fa93fc3e933
https://www.cips.org/knowledge/procurement-topics-and-skills/operations-management/just-in-time/
https://www.mckinsey.com/business-functions/operations/our-insights/supply-chain-resilience-is-there-a-holy-grail
https://www.wsj.com/articles/supply-chain-resilient-11638302050
https://hbr.org/2020/09/global-supply-chains-in-a-post-pandemic-world
https://www.cnbc.com/2021/02/10/whats-causing-the-chip-shortage-affecting-ps5-cars-and-more.html

